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Find the maximal solytion of the initial value problem

dx
_— = 1— p—
o =el-2), a@=aq

where a is a real number.
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Find an explicit expression of a space curve ~y(s) parametrized by
the arc-length s, whose curvature k and torsion T satisfy

e e A L
e<Yw F=(e m.b):R>TS06)

/ 60 —K 0
§=§(t~ 0 —%

O T b

Advanced Topics in Geometry F1



o ~l o
3~ 7 3, Q- %5(5 I )
S=Tml £ < tobiu s fes?
{%’ = ?I'Qo g(ﬂ) = :,(P uQO ML“";'>

R

%l,b}"idﬂ - 2 lﬂo =




1. Flem) \~§ Su 4 (= oow)
( T AU WU U
U=}/ —~ " uall.*fivs"

W= <‘4L _S_

"; (—,\_(lﬂc»u) @\ll lLl-»u))
- o= (*{ (3« D((§+4t—es=) BT

J)—_ LQ— & (S*JHT))



b 4 (e b)) 3 (bws ) o
TNE: o

. ”’;:’;‘r S a8 +h b+ enih
o : '
\-!}“ “-\(RP / DPavbows verfov
(161‘ w‘msﬂ.d )




